
HW #4

1. Classical Uncertainty Principle

(a) The Maxwell’s equations in vacuum are given by 
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In this problem, there are only x  and t  dependence, and the only non−vanishing components are Ey and Bz .  Then the
Maxwell’s equations reduce to

Ñx Ey + ¶t Bz = 0

-c2  Ñx Bz - ¶t Ey = 0

Putting them together, they reduce to a simple one−dimensional equation,

c2  Ñx
2 Ey - ¶t

2 Ey = 0.

Any function of the combination c t - x  satisfies this equation, namely

Ic2  Ñx
2 -¶t

2 M f Hc t - xL = 0.

Because the form of Ey  given in the problem is a function of c t - x  only, it solves the Maxwell’s equations automati-
cally.  

To simplify the problem, define Γ = 4 Π2  Ν2  Σ2 � c2 . Then the electric field is:

Ey@x_, t_D = E0*SinA c
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The form can be sketched as
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Plot@Ey@x, tD �. 8t ® 0, Γ ® 400 Π2 , E0 ® 1, Σ ® 10<, 8x, -30, 30<, PlotRange ® 8-1, 1<D;
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It  oscillates just like the plane waves, but is localized.  The "uncertainty" is defined using the formula analogous to the
quantum mechanical wave function.  First the "norm,"

norm = Integrate@Ey@x, 0D^2, 8x, -¥, ¥<, Assumptions ® 8Γ > 0, Σ > 0<D
1
�����
2

ã-Γ H-1 + ãΓ L E02 �!!!!Π Σ

We could set the overall normalization E0 = 1 throughout since it will  drop out after taking the norm correctly into account.
But we can also leave it in as a check that everything is working correctly.

Next the expectation value

Integrate@x*Ey@x, 0D^2, 8x, -¥, ¥<, Assumptions ® 8Γ > 0, Σ > 0<D
0

OK, this vanishes.  Finally the variance,

temp = Integrate@x^2*Ey@x, 0D^2, 8x, -¥, ¥<, Assumptions ® 8Γ > 0, Σ > 0<D
1
�����
4

ã-Γ E02 �!!!!Π H-1 + ãΓ + 2 ΓL Σ3

variance = temp�normH-1 + ãΓ + 2 ΓL Σ2

���������������������������������������������
2 H-1 + ãΓ L

Note that the E0 dependence did in fact drop out.

FullSimplify@varianceD
1
�����
2

J1 +
2 Γ

�������������������
-1 + ãΓ N Σ2

One can write it  as HD xL2 = 1�����2  Σ2 I1 + 2 Γ��������������ãΓ -1 M, where Γ = 4 Π2  Ν2  Σ2 � c2 .  It  is especially simple
when Γ p 1, when HD xL2 = 1�����2  Σ2 .
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(b) The Fourier transform to the frequency domain as a function of the variable "f"  is calculated below. We might as well
pick a specific position like "x=0" to evaluate the Fourier transform.

ft@f_D =
Integrate@Ey@0, tD *EI 2 Π f t , 8t, -¥, ¥<, Assumptions ® 8Γ > 0, Σ > 0, c > 0, f Î Reals<D

Integrate::gener :  Unable to check convergence. More¼

ä ã-
Hc �!!!!Γ +2 f Π ΣL2
����������������������������������������

2 c2 J-1 + ã
4 f Π �!!!!Γ Σ
��������������������������c N E0 "######Π����2 Σ

������������������������������������������������������������������������������������������������������
c

Again starting with the norm (noting that ft@ f D*  ft@ f D = -ft@ f D^2 ):

norm2 = Integrate@-ft@fD^2, 8f, 0, ¥<, Assumptions ® 8Γ > 0, Σ > 0, c > 0<D
ã-Γ H-1 + ãΓ L E02 �!!!!Π Σ
�����������������������������������������������������������

4 c

Integrate@-ft@fD^2, 8f, -¥, ¥<, Assumptions ® 8Γ > 0, Σ > 0, c > 0<D
ã-Γ H-1 + ãΓ L E02 �!!!!Π Σ
�����������������������������������������������������������

2 c

Next, the average frequency,

exptf = Integrate@f* -ft@fD^2, 8f, 0, ¥<, Assumptions ® 8Γ > 0, Σ > 0, c > 0<D �norm2
c ãΓ �!!!!Γ ErfA�!!!!Γ E
����������������������������������������������
2 H-1 + ãΓ L Π Σ

exptf �. Σ ® c 
�!!!!!!

Γ � H2 Π ΝL
ãΓ Ν ErfA�!!!!Γ E
�������������������������������������

-1 + ãΓ

LimitAErfA�!!!!
Γ E, Γ ® ¥E

1

One can write it as Ν Erf@Γ1�2 D����������������������1-E-Γ , where Γ = 4 Π2  Ν2  Σ2 � c2 .  It is especially simple when Γ p 1, when it reduces to nothing
but Ν.  Finally the variance in the frequency is (remember to normalize!)

exptf2 = Integrate@f2 * -ft@fD^2, 8f, 0, ¥<, Assumptions ® 8Γ > 0, Σ > 0, c > 0<D �norm2
c2 H-1 + ãΓ H1 + 2 ΓLL
�������������������������������������������������������

8 H-1 + ãΓ L Π2 Σ2

FullSimplify@%D
c2 H-1 + ãΓ H1 + 2 ΓLL
�������������������������������������������������������

8 H-1 + ãΓ L Π2 Σ2
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% �. Σ ® c 
�!!!!!!

Γ � H2 Π ΝL �� SimplifyH-1 + ãΓ H1 + 2 ΓLL Ν2

�������������������������������������������������������
2 H-1 + ãΓ L Γ

Limit@%, Γ ® ¥D
Ν2

Then the square of the dispersion in the frequency is:

dispersion2 = exptf2 - exptf^2 �� Simplify

-
c2 J-H-1 + ãΓ L H-1 + ãΓ H1 + 2 ΓLL + 2 ã2 Γ Γ ErfA�!!!!Γ E2 N
��������������������������������������������������������������������������������������������������������������������������������������������

8 H-1 + ãΓ L2 Π2 Σ2

dispersion2 �. Σ ® c 
�!!!!!!

Γ � H2 Π ΝL �� Simplify

-
Ν2 J-H-1 + ãΓ L H-1 + ãΓ H1 + 2 ΓLL + 2 ã2 Γ Γ ErfA�!!!!Γ E2 N
��������������������������������������������������������������������������������������������������������������������������������������������

2 H-1 + ãΓ L2 Γ

Limit@dispersion2, Γ ® ¥D
% �. Σ ® c 

�!!!!!!
Γ � H2 Π ΝL

c2
�������������������
8 Π2 Σ2

Ν2

���������
2 Γ

Namely,

HD f L2 =
Ν2 IH1 - e-Γ L HH1 - e-Γ L + 2 ΓL - 2 Γ Erf@Γ1�2 D2 M
�����������������������������������������������������������������������������������������������������������������������������������������������

2 Γ H1 - e-Γ L2

whichsimplifiesto 

HD f L2 = Ν2  
1

�������������
2 Γ

=
c2

��������������������������
8 Π2  Σ2

when Γ p 1. Therefore,

HD xL2  HD f L2 =
c2

�������������������
16 Π2

Onceinterpretedasaphoton,

HD f L2 = c2 HD pL2 � h2

, andhence 
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HD xL2  HD pL2 =
Ñ2

����������
4

asexpected.

2. Gaussian Wave Packet

HaL Thenormis

XΨ È Ψ\ = à XΨ È x\ Xx È Ψ\ â x = à @Ψ HxLD*  Ψ HxL â x

. Specifyunnormalizedstateonspatialbasis:

Ψun@x_D = EI p x � @ E-Hx-x0L2 �H4 d2 L ;
We now integrate:

norm3 =
Integrate@ComplexExpand@Conjugate@Ψun@xDD Ψun@xDD, 8x, -¥, ¥<, Assumptions ® 8d > 0<D
d �!!!!!!!!2 Π

Therefore N is

1�Sqrt@norm3D
1

���������������������������������!!!!
d H2 ΠL1�4

Verify:

Ψ@x_D = Ψun@xD �Sqrt@norm3D;
Integrate@ComplexExpand@Conjugate@Ψ@xDD Ψ@xDD, 8x, -¥, ¥<, Assumptions -> 8d > 0<D
1

(b) Now calculate

Xx\ = XΨ È x È Ψ\ = Ù XΨ È x\ x Xx È Ψ\ â x = Ù @Ψ HxLD*  x Ψ HxL â x

:

Integrate@ComplexExpand@Conjugate@Ψ@xDD x Ψ@xDD, 8x, -¥, ¥<, Assumptions -> 8d > 0<D
x0

(c) Calculate 2nd moment

Xx2 \ = XΨ È x2 È Ψ\ = Ù XΨ È x\ x2  Xx È Ψ\ â x = Ù @Ψ HxLD*  x2 Ψ HxL â x

:
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(c) Calculate 2nd moment

Xx2 \ = XΨ È x2 È Ψ\ = Ù XΨ È x\ x2  Xx È Ψ\ â x = Ù @Ψ HxLD*  x2 Ψ HxL â x

:

Integrate@ComplexExpand@Conjugate@Ψ@xDD x2 Ψ@xDD, 8x, -¥, ¥<, Assumptions ® 8d > 0<D
d2 + x02

SoourdispersionDx =
"##########################Xx2 \ - Xx\2  is

dispx = Simplify@Sqrt@% - x02 D, Assumptions ® 8d > 0<D
d

(d) We utilize the unity operator, noting that the momentum eigenvalue p in Ψ(x) is not the same as the momentum coordi-
nate q in Φ(q),

Φ(q) = Xq|Ψ> = Ù Xq È x\ Xx È Ψ\ â x  = Ù e-i q x�@
�������������������!!!!!!!!!!!!

2 Π@  ΨHxL â x

:

Φ@q_D = TrigToExpASimplifyA
ComplexExpandAIntegrateA Exp@-I q x� @D

����������������������������������������!!!!!!!!!!!!!
2 Π @

Ψ@xD, 8x, -¥, ¥<, Assumptions ® 8d > 0, @ > 0<EE,
Assumptions ® 8d > 0, @ > 0<EE

Integrate::gener :  Unable to check convergence. More¼

d ã-
d2 Hp-qL2
���������������������������@2 +

ä Hp-qL x0
��������������������������@ H 2����Π L1�4

����������������������������������������������������������������������!!!!!!!!@ d

Check norm:

Integrate@ComplexExpand@Conjugate@Φ@qDD Φ@qDD, 8q, -¥, ¥<, Assumptions ® 8d > 0, @ > 0<D
1

(e) Similar to Xx\ :
Integrate@ComplexExpand@Conjugate@Φ@qDD q Φ@qDD, 8q, -¥, ¥<, Assumptions ® 8d > 0, @ > 0<D
p

(f) Let us now calculate Dp similarly to Dx:

Integrate@ComplexExpand@Conjugate@Φ@qDD q2 Φ@qDD, 8q, -¥, ¥<, Assumptions ® 8d > 0, @ > 0<D
@2

������������
4 d2

+ p2

HW4.nb 6



dispp = Simplify@Sqrt@% - p2 D, Assumptions ® 8d > 0, @ > 0<D
@

���������
2 d

Finally, compute the combined uncertainty DxDp :

dispx * dispp

@
�����
2

We obtain the minimum combined uncertainty as expected!

3. Proving the Baker−Hausdorff Lemma

(a)  d��������d t  BHtL = et A  A B e-t A + et A B H-AL e-t A

= et A @A, BD e-t A

Noting that:

et A @A, BD e-t A = @A, BHtLD
(b)  BH1L = B + Ù

0

1 d��������d t  BHtL â t

B H1L = B + Ù
0

1 @A, BHtLD â tÚn=0
¥ Bn = B0 + â

n=0

¥ @A, Bn D Ù
0

1
tn  â tÚn=0

¥ Bn = B0 + â
n=0

¥ @A, Bn D 1�����������n+1Ún=1
¥ Bn = â

n=0

¥ @A, Bn D 1�����������n+1Ún=1
¥ Bn = â

n=1

¥ @A, Bn-1 D 1�����n

Bn = 1�����n @A, Bn-1 D
(c)  Bn = 1�����n @A, Bn-1 D = 1�����n AA, 1�����������n-1 @A, Bn-2 DE = 1�����������������nHn-1L @A, @A, Bn-2 DD = ...

= 1�������������������������������������������nHn-1L... Hn-n + 1L @A, @A, ... @A, Bn-n D ... DD
Bn = 1�������n! @A, @A, ... @A, BD ... DD (w/ n  nested commutators) 

(d)  eA  B e-A = BH1L = Ún=0
¥ Bn  
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eA  B e-A = â
n=0

¥ 1�������n! @A, @A, ... @A, BD ... DD
(e)  ei p a � @  x e-i p a � @ = â

n=0

¥ 1�������n! @A, @A, ... @A, xD ... DD
= â

n=0

¥ an

��������n!  I i�����@ Mn @p, @p, ... @p, xD ... DD
Only the first and second terms survive:

= x + a I i�����@ M H-i @L
ei p a � @  x e-i p a � @ = x + a
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